BRBRFRFEEPFLARRLL

PEARIOLE 7Y 5P BBk EF 510130072905 57 2
PEAKI2EL0Y 29P B Bk EF 5102310211955 2 1
vEARIAE 7Y 10P % Bk EF 5104310153255 2 1
PEAREI4ELILY 24P BB P F 5104310184555 i3 v
PEREISE 17 20P % BE®F 5105305053155 i3
vEAEII0E 37 9p BBk F 5110310124050

Ve

(S%]

\}%Kﬁg—;ﬁ;ﬁg‘_??féiﬁ"‘TJ%"JSB LRI A S o B R Y A A
*

%
CHEERREEE AT A 0 Y 53,2007 8 4 A st TR > 2 &
¢ g g ecid, 0007 5 4 dp LR R o
pie iAo M 2 gk e RAZEL0 e B 2 £ AT < Al de 0 B Y R
3,2007 8 4 oy - sopn et T X > L R PSR A B P - abd dreTind, 000

TR AL EITE o

CRERE18E M <A E R RE > RY e R TR S NER 0 Y
AdE Ay o SR ARG TR - MR EL S AP R A BN R R
2 TEREF Ry FLABEEFT o

BB B TERREALRARIRER

(- )-f‘:‘}‘_iii‘ﬁ%' A =R - I L - B

(Z) S4B 2 FIRRE DB RA - 45 dg o

(Z)F - BEgediEdpdar L S8 5 R

(w )i dipdpda L3 B ipdnda ( S4B M pRETF)

(T )mds 4 dndgieik & H o REFFRAIF TS __,_;}éjpé?# FITE o
Brp10-18(3 2 )F WL f 4y - 3R ARE FR - IR AR
B ES GEAENGERE L2 TEREFVREN A ITERTE o




[ 5'
r4a 5

>

AR5 4 B e

* % 5,000

1,800 = 5% 4 354, — 470

2,400 ™ B 4 g4y - s 1,800 T8 A4

5,000 =2+ » X% 10,000

- dpe

10, 000 v+ » &% 15,000

2,400 =2 1,800 ™ 5 4 4, % - s

15,000 ™~ » %3% 30,000 |3,200 = & 2,400 5 4 i & — i
30,0002 ¢ + %45, 000 4 Eé”o TR LA TR EE
45,000 ©2 » %5%60,000 | 4,000 T 5 4 £3,200 © 5 4 Hhy - we
. 4000?%41} (Z 525000 ~ 54
60,000 1 > A8 100,000 | e g - far
100,000 72+ » %% 180,000 |5,000 ™5 4 12t 44y = s
&k 5.000m 874 1T (Z 56,000
,- B4 1405y d e
180,000 r«.¢ N 5000754 (305 6,000
B4 ] a3 s = d o
%

~ et LR LY 4 2
)ﬁjf}é““" 3 an A & ﬁ-pﬁ/ﬁ‘ X >
= ~BeEi]10-18F PR 2 }'1‘%4’ kil

;—t F%’ /‘\1#}& IE_"’:{J‘_

i

CREEE 18 g A A E R

Al
» 3 b R
L e I ;ﬁ ' 7

b
*
4

L , = 2 4 A
,‘ o7 i 23

— ﬂ%ﬁ}:& J}’ ‘I:,z, B4 o
cE B E LT 2y o

B (MeEdpia 2 g W LG e dnik

BERR - MR B GE AR AERE IRATARFIET R

ﬁ] F R R— BT AL o

P*FP‘SE}(;)UF? FOAA R~ P gk

' ¥

’j" Sy J3’ J[lfa g5 {%

RS TS NS X TR is il iy



